[ea1uyoa)

NYSsa|l) Jejiwis 39S

'ane,t//:dnqucgmeo;u

q-ny |

E
g
=
o
Q
=
Q.
Q
w
2
©
o
2
©
T
_|
<

ap-uleg-ny 1|agtey)//dny Jo sp'ul

Ritp://farbe i u-berlin.de/BEVIIBEVIL ONA.TXT /.PS; start output
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IECSRGBuUS9 triangle lightnesst*

t* Yoc=Yw - nc=100,

t*1EcsreBug=B0 (YY) 1 2(Y,=18, Y,/ 100<Y<=Y, o)
t*\(3,6)=13,t*,(18)=50,t*\,,(90)=191

t*00=191,18=1.2, 11,—1/1 2=0,83
550,00 §=50 0,
t#3,6=13,05,t1,=50 oo =18

1
1Y =18

Yw=90

IECSRGBu9

tristimulus value difference

YoemYw  nc=100,
t*1EcsreBug=B0 (YY) 1 2(Y,=18, Y,/ 100<Y<=Y, o)
log(dY) = (1/1,2) log[1,2(,/50)] + [1~(1/1,2)] logY)

log(dY)=2,40 m,=0,1@&
1
dYge=3,13,y=1,2, 1§=1/1.2=" °F
dY;g=2,40 S=F2,C3 u,;=-0,00 1 application
dY; 61,83 Y,=18 dY=2.40 range
1Y,=18
Yn=3.6 Yw=90

log (AY/Y) IECSRGBUY
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t*1EcsreBug=B0 (Y/Yy) 12(Y,=18, Y,/ 100<Y<=Y, o)
log(@dY/Y)= log[L,2(Y,/50)] - (1/1,2) log¢/Y,)
= (1/1.2) log[1,2(,/50)] - (1/1,2) log¥)
’ 4

3 “(5\91@@—3&945”1&
dY/Y)=0.1333 250,06
ng/Y%B;O 5091% 18, v 4p

1Y,=18
Yn=36 ! Ygy=90

IECsR?BuQ :
C,=(Y/AY) %i%j us \f: _uleot(:)ontrast
t*|EcsroBugmB0 Y/ Y2 (Y, =18, Y,/ 100Y<=Y, o)
Iog(Y/dY)— Iog[L.2(/,/50)] + (1/1,2) log{/Yy)
- (11,2 Iog[l 2(u/50)] + (1/32) log{)
t*,=50, ay, Q Y,/dY,

,<0,8°

>
(Y/GYy=28,67 =22, 14=1/1,240,83
(Y/dY)g=7,49 §=50,0Q D= —0 00 application
(Y/dY} ¢=1,96 Y,=18, dY;=2,4 range
.Yu=18
Ya=3,6  Y\y=90

IECsRGBuU9 relative triangle lightnesst*/t*,
e, Yoc=Yw  nc=100,

t1EcsreBug=50 (/Yy) 1 2(Y,=18, Y, /100<Y<=Y, )
1t (3,6)=13 1+ ,(18)=50 t*,(90)=191

t*go/t*=3,82,y=1,2, 1y=1/1,2=0,83
t*1g/t*,=1,0Q §=50,00 D;=-0,00
t*3 dt*,=0,26,t*,=50,0Q Y,-18

log[t*/t* ]=0, m,=0,83

log(AY/AY,) IECSRGBUO relative
AYIAY tristimulus value difference

i YocmYw - nc=100,
t*1EcsreBug=50 (V/Yy) 1 2(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1~(1/1,2)] log¥/Y,,)

dYeo/dY,=1,30,y=1,2, 14=1/1,2=0,83
dY;g/dY,=1,00 $,50,00 D,=-0,00
dYg,ngu=o,7e Y,=18, dY=2,40

*,=50,dY,=2,40 dY/Y,=0,1333
= .-.‘.‘1‘

application
nge

1Y,=18
NE36 | Yw=90

log [(AY/Y) 1 AYIY),] IECSRGBUO relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t1EcsraBug=50 (Y/Yy) 1 2(Y,=18, Y, /100<Y<=Y, o)
logl(dYM/(AYY),] = - (1/1,2) logl/Y,)

(AYr N (VI @6,y=1,2, 14=1/1,2=0,83

(dY/YydYs A=1,09 §=50,00 D;=-0,00

(dYIYy (VY -3,8% ‘1‘8, dn:z,ztoappncaﬂon
e

1og[(dY/YY(dY/Y)]=0, ny=-0,33 S
t*,=50, dY,=2,4Q dY,/Y,=0,333 ?
100y

YR=3.67 Ya=90 T

*

log [(Y/AY) 1 (YIAY),] IECSRGBUO relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t1EcsreBug=50 (Y/Yy) 1 2(Y,=18, Y, /100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

(Y/dY)yo/(Y/dY)=3,82,y=1,2, 1=1/1,2=0,83
(Y/dYYg/(Y/dY)=1,00 §=50,00 Dy _—o 00
(YIdYy (Y/dY)=0,26 V=28 d';=2,40,¢

1og[(Y/dY)(Y/dY),]=0, 7,=0.%3

application
range
1Y,=18
L 2 e
Ya=36  Yw=90

IECSRGBuUS9 triangle lightnessT*

T+ Yoc=L*w - nc=100

T*IEcsraBug=50 (Y/Y) M 2(Y,=18, Y, /100<Y<=Y,0)
T4\ (3,6)=13,T* ,(18)=50,T* (90)=191

=191,18y=1,2, 14=1/1,2=0,83
T*18—50 00 $=50,00 D,=-0,00
T*3,13,05,1%,=50,00 \=18

1
1Y =18

Jin=3.60 DYy =90 T

BEV90-1A

logAY) IECSRGBu9

AY tristimulus value difference
Yo=L*w  ne=100,

T* IEcsreBuo=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y, o)

log(dY) = (1/1,2) log[1,2(,/50)] + [1-(1/1,2)] logY)

1
dYge=3,13,y=1.2. 1%~1/3,2=0,83
dY;g=2,40 §=50,0Q D,=-0,00 1 application
dY;6=1,83 Y,=18, d\=2,40 1 range
1Y,=18
Yn=3,6 ; Yw=90

BEV90-3A

log AY/Y) IECSRGBu9

tristimulus value sensitivi
S=@BYY) Yo=*w - :nc=100. 4

nc’
T* |EcsreBuo=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,o)
log(@Y/Y)= log[L,2(Y,/50)] - (1/1,2) log¢/Y,)
= (1/1,2) log[1,2(,/50)] - (1/1,2) log¥)
>

" ‘%ﬂYuo%ﬂs"wi HiLirs
(dY/Y}=0,1333 §=50,0Q D=
(dY/Y} =0,5093 Y, =18, dY=2,

Yn=3,6
BEV90-5A

log (Y/AY) IECSRGBuU9

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T*IEcsreBus=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,o)
log(Y/dY): l0g[1,2(/,/50)] + (1/1,2) log¢/Yy)
- (1/1,2) log[1,2(,,/50)] + (1/;!) logy)
4Q Y, /dY,=

(YIdYyo=28,67 y-1,2, 1§=1/1,240,83

(Y/dY)g=7,49 S50, oq Dn =-0, 00 application

(Y/dY} 1,96 Y,=18, dY=2,40 range
1,18

BEV90-7A

BEV90-7N

TUB-test chart BEV9; IECSRGBu® & T* for Y/Y, with additional dataYnc=
Absolute and relative lightness, sensitivity and cont&st0,00,

THT* IECSRGBuU9 relative triangle lightnessT*/T*
THT*, Yoc=L*w - nc=100,

T*|EcsraBuo=50 (Y/Y) ' 2(Y,=18, Y, /100<Y<=Y, )
T4\ (3,6)=13.T* (18)=50,T* (90)=191

T*o/T*,=3,82,y=1,2, 1§=1/1,2=0,83
T*19/T*,=1,0Q §=50,00 D,=-0,00
T*3¢T*,=0,26,7%,=50,0Q Y=18

log[T*/T* ]=0, m=0,83

BEV90-2A

log(AY/AY,) IECSRGBUO relative
AYIAY tristimulus value difference
u YoerL*w - nc=100,

T* EcsraBuo=50 (Y/Y) M 2(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1-(1/1,2)] log¥/Y,)

dYeo/dY,=1,30,y=1,2, 14=1/1,2=0,83
dY;g/dY,=1,00 $,50,00 D,=-0,00
dY3,¢dY,=0,76 Y,=18 dY=2,40

4Q dY Yy 0 1333

application
nge

1y,=18
NN=3601 Y =90 T

BEV90-4A
log [(AY/Y) | (AYIY),] IECSRGBUO relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc

T* Ecsrapuo=50 (Y/Y) M 2(Y,=18, Y, /100<Y<=Y, )
logl(dYM(AYY),] = - (1/1,2) logl/Y,)

(AYIVh(dY /¥, 0 96 y=12. 14=1/1,2=083

(dY/Y)g/(dY/Y)=0,68 §=50,00 D,=-0,00

(@YY} (AYIYV)=5,61 aed8, dY=2, A0 o aton
Q nge

10g[(dY/YY(dY/Y),]=0, m,=-0,82 ‘.‘
T#,=50, dY,=2,40 dY,/¥,=01333 ! "%
1180
YR=3.67 =90 T

>

BEV90-6A
log [(Y/AY) I (YIAY),] IECSRGBUO relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T* |Ecsrapuo=50 (YY) M 2(Y,=18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

(Y/dYbO/(Y/dY)J 3 sz T1,2 14=1/1,2=0,83
(Y/dYYg/(Y/dY)= ,00 D
(YIdYY J(YIdY o 26 Yu 18, dY=2

log[(Y/dY)(Y/dY),]=0, m=0,82 28

application
range

Y,=18
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